%

| N4
v ngz:g&\aﬁx”: n Ls;.(;du(-/:b.&f" V._}_._J%'
L :-""UA'L;/, .»/,CVJ,/:L.,/,)-ML'/',JC:UM ! randomness u)jd’)u: (i

(osdo TI22) 200 Loy é/

3’:"‘/4.‘)'/—-/))*" ‘:,rg)»ﬁ" oMM ke ”-J- Ol fuzziness [))J‘d)\;
. é/ glﬂu\.—,qug s 3P I _'_',(_'gd)
. - s ~ .
”J
N L}/

. A A -
.-Jr)r/‘f‘-—‘/’{‘fr‘)“/’(j’.’::;'c\’/“—.dld)jr/d(‘al‘
LM 0.9 L A L
,—10.9 _,T,_‘)urﬂg,w I PYA :-afb)fr/Q‘é'—

(!:-;’r)“/g»’ vy [}5/] ;v’ru-"’u»’c_./?[r:’)

[~ 4 |B] = th(x)_;,?:_ils(x) (D) (r
[AUB| 4 |ANB| = § (AUBI(L) + %(Ams)(x)

=2 max (A(x),B() + 2:: min (A(R), BGL)

= éjl_(A(x)+B(x)+1A(x)-B(x>D
+ %%(A(x) +BG) - |AM) -BGO))
= Z (AGO 4B
=Z AW » LBW
= | A} 4 |B)
20 20
Zwh) ,Lcl,:.lzgn-c(x): ) :H =04l 242020335 (¥

3 2\

20 2 20
- |Cl .-.Aj Clddx = [ 2 _dx = z_ln(x+D] =20-In21 -0
' 0 o A+ o

= 16.95_



o

ASB & Y A 2BMX)

(r
Ax)z0 = |

Z0 =% | 4 10x.20 = %2 0.1
)+ 0%

rO) 2t =
+

= X220
S1 = 14021 = XxZ 0.

37 Fded oz slnn }_J{J;,Qn’o‘i;,u (10 ALY Oy
' 7

L
AGO) £ AG) S(AGD)T = A AS AT
SN) A@) = - X (2
x+2
B(x) = | _27%
E(L = | - ! -
) |4 10(x-2)2

=) (AUB) (%) = max (A),BL) :.!l_@(x)+scx)+\A<x)_ch)|)
(BUC)() = max (B(x),C(x)) =\7(B(a¢)+cm+ |B(x)=C0))

2) (AABY() = min(AGO,B(0) = L(Al)+ Bx)—1AG) -8B (0}

(BRE)(x) = min(B(x),CR) = _'2_,(5,(1) +C(O-18(x) ~C)|)

2) (ANC)) = min(A(x), 1-CLV) .

(AUB) (%) = | — max (A(x),BL{N)

. a._'/lfl MATLAB .l assigné_ex5.m ,.::r” Jl;.lo_/l).?:‘r-//(f/{



&

Supp(A) = {xeX: Ax) >0} =(0,10) X=(0,10] (7

wEX

X700, X 4270 = K>0

h(A):quA(x.)_—_maLx x. _max(l 2 >—l___<1 dl./ﬂ
X €X XeX AX+2 reX A(+2 12

crossover (A) = ixexx A() =‘_2} = {2

/*(’L):‘_# L—:‘_:} A 42 =2 = =2
2 42 2

supp(B) = [0,10]
Blx) >0 = 2% >0 "‘éf e lo,10]

h(B) = max 2°% =2°=1 Jv
xeX
crossover (B) = {1}

= = L
B(ot)__Lz_g?, >

supp(C) = [0, 10]

LeENR
1 >0 . = xelo,10]

Clx) =0 = -
t410(x-2)

h(C) = max C(x) = C(2) =1 v
2 X

crossover (C) = {2 x 'J—\?)/'o}

Cx) = A = 2 =1 l+l0(%x=2)*=2
) 2 VHio(x-2)? /2 * ) =
10x*_20% 4 39 =0 == 2,90 —x
xex ~ lo
o _ : > _T 2«
[AT* = [ xexX t AR Z ok} [‘_d , 10] (v
A)Z o = ZHh = XKZdAX 42X =3 X(1_a)= 2K
A+2
= x.z_ 2%
f - X
Ax) 1 = % ?_ <1 = n<x4+2 =5 xelo,10] = x£10
o

(A1%* = (,L&)Q:.A..CZ.‘),>D(} =—__( ZoA ,40]

V — Lk

Alx) Zot = >0 = Xy _2X

+2 | — ol




L= b2 3 4 5 6 F. 8% 9..10 .} (A
S/f‘,_}fA, 0. 0 0F 09 1 09 0F 0 0 __0
5,,‘1;_}4/;‘&;5 A, 0 0 © o 0. 0. 05 08 1 .|
_é/ Az } 0.3 05 0.3 014 0 ©0 ©0 ©O O
435 Ay I . 05 o1 o ol 05 0% 08 0.9 1
7]11’.},/;;3’_},/1'. As 0 0.1 04 0.6 08 09 ) 0 o 0
_,é/&:; Ag | 0,64 0.25 009 0.0f 0.0 -0 O b
(Aja)z
Gk N L (
o= 0.4 {oe, %, %3, 204, %5} {0 X3uxg, x5}
= 0.3 {x\,x3,1.4,x5} DR S PR
d= 0.7 { %3, x4 > 25} , {rq x5y
o = 0.3 § Xg sxs5§ - s
K =1.0 {7‘-53 {3
A(z) = ; - X=[1..40]  feo=xE (V.
(FOA(3) = w2 = sup T L ST
xy= oG X+2 Ny +2 Yy +2
B(x)=2"
(FCB) (y) = sup 2% = Sup 9}‘@7.—, 2{‘5

xiy=x?

C = !
= 1410(X=-2)2

(F(B)(y) = sup — ! = inf (0 —2))

xiy=x? 1 H10(X=2)2 iy=x?

= ( g 1&(@_ 2 )2)




©r

0.6 + 0.F +
16 25 100

(FON ) = P(FGL)

D= 23 4
4

0 0 0

Y=1{0,1,4,9,16,25,--.,100}

D)

<o\5‘j 0] 0 o) (o}
T —t — 4 4+ =>4+ + + +

! 2 3 4
0 [2)
9 o

x

— cm——

s X2y
R(x>v) 2{ 0 , otherwise
X =[1-.100]

Y =[50 .. 100]

5 6 7 8

(H

._}Jl) dom R(x,y) = ~;06L>Y< Rix, y) =V = 1750
r R(x = max R{=x =1 -1
an KO0y xeX ¢ 'Y Y
h(R) = max max R(K,B) =1~ _1 =20.99 <1 d‘}{)
~eX YevY 100
Ry, %) =R, y) =1 — _";_. > X Sy
=10 5 %7y
R, Y)=aeo v g e (Y
' 14 (x-Y? =
Fo 04 0.F | o4 0.2 0 | (v
0.6 0.4 0.2 . s
RoS =] 0 0.\ 0.4 O0F} O fmax-mmj)/
0.g 0.6 0.4
0. 0O o.l 04
L { 0.3 0.6
L §
Fy o 0.8 0.6] * , }
= |0F 0.7 06] S (ResS)(X,2)
0.4 0.4 04} €
\_ e




$o
UJJ:)If
dL—;LJl;

(w2 ‘l;

R S.. - Qf
X Y ¥aSGya) =)
X X

R E?RQR S 37 SoS

X X

X X





